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8:45 REESA
9:00 FEESn
9:30 LacoL ViR (& VS BRI U—> F_ESC(B) JL>—ILFC Vs BIRRD b Lw ROS )R REFC(B)
9:45 F_ESC(A) VS Lw ROS > )CRRIRFC(B) JL>—)LFC #_ESC(B) Vs Lw ROS 2 )CRRIRFC(A) BERRDA1 &
10:00 LacoL ViR (& VS BIRRD b Lw RIS JCRRRFC(A) BRI U—> Vs Lw RIS JCRTRIRFC(B) #_ESC(A)
10:15 JL>—)LFC VS Lw ROS 2 )CRRIRFC(A) BRIV —> A _ESC(A) Vs #_ESC(B) LacoL V(&
10:30 LacoL ViR (& VS Lw ROS > )CRRIRFC(B) F_ESC(B) BiRRD b Vs Lw ROS > )CRIRIRFC(A) JL>—)LFC
10:45 BRI U—> VS A_ESC(B) Lw RS> JCRRRFC(B) JL>—ILFC Vs A_ESC(A) BIfRD b
11:00 LacoL ViR (& VS Lw ROS 2 )CRRIRFC(A) F_ESC(A) Lw ROS > )CRRIRFC(B) Vs #_ESC(B) BRI U—>
11:15 BIRRD1 ~ Vs A_ESC(A) LacolL ViR (& BRI U—> Vs JL>—ILFC Lw RIS )CRRERFC(A)
11:30 LacoL V2 (F Vs A+ ESC(B) BERRDA1 ~ Lw ROS)CZRRFC(A) Vs A+ ESC(A) BERIU—>
11:45 Lw ROS 2 )CRRIRFC(B) S JL>—JLFC F_ESC(B) BHiRRD b Vs BRI —> F_ESC(A)
12:00 LacoL ViR (& VS A_ESC(A) Lw RIS )CRRIEFC(A) A _ESC(B) VS JL>—)LFC Lw RS> )CRRIFEFC(B)
12:15 Lw RIS )CRRRFC(A) VS BRI —> LacolL V(& Lw ROS ) CRRIRFC(B) VS BIRRD1 ~ JL>—JLFC
12:30 LacolL Vi (F Vs JL>—)LFC BERRD A ~ A ESC(A) Vs BRI U—-> Lw RS> )CREERFC(A)
12:45 #_ESC(B) Vs BIRRD b LacolL ViR (& Lw RIS JCRRRFC(A) VS Lw RIS JCRTRRFC(B) #_ESC(A)
13:00 FRIDERSEST - 1AE8
13:15 LacoL ViR (& VS BHiROU—> #_ESC(B) JL>—ILFC Vs BIRRD b Lw RS> )CRRIEFC(B)
13:30 F_ESC(A) VS Lw ROS>)CRRIRFC(B) JL>—)LFC A_ESC(B) VS Lw ROS ) CRRIRFC(A) BERRD1 &
13:45 LacoL ViR (& VS BIRRD b Lw RIS )CRRIEFC(A) BiROU—> Vs Lw RIS JCRTRIRFC(B) #_ESC(A)
14:00 JL>—)LFC VS Lw RIS )CRRRFC(A) BiRIU—> A_ESC(A) VS A_ESC(B) LacoL V(&
14:15 LacoL ViR (& VS Lw ROS>)CRRIRFC(B) #_ESC(B) BiRRD1 b~ Vs Lw RIS )CRRIRFC(A) JL>—JLFC
14:30 BRI —> VS A_ESC(B) Lw RIS )\RRIEFC(B) JL>—JLFC Vs A _ESC(A) BIRRDA1 b
14:45 Lacol V2 (F vs Ly ROS>JCRIEEFC(A) K _ESC(A) Lw ROS>CAREFC(B)  vs _ESC(B) E$ROU—>
15:00 ESRR DA vs ESC(A) LacoLVia(E BRI U—> vs FLS—JLFC Lw ROS>)CRERFC(A)
15:15 LacoL V&2 (F Vs F_ESC(B) BERRD ~ Lw ROS 2 )CRRIEFC(A) Vs A+ ESC(A) [SEEAI R
15:30 | Lw RUSSJCRBEFC(B) | vs FLS—ILEC K _ESC(B) EEEAN vs BRI U—> #_ESC(A)
15:45 Lacol V(3 vs HESC(A) Lw ROS>)CRERFC(A) #.ESC(B) vs FLS—JLFC Lw ROS>)CREERFC(B)
16:00 Lw RS> JCRFRFC(A) Vs BRI U—> Lacol V& (E Lw RS> JCRFIRFC(B) Vs BERARDA ~ JL—)LFC
16:15 Lacol Vi (F VS JL>—ILFC At ESC(B) #_ESC(A) Vs BRI U—-> Lw RIS )CRRRFC(B)
16:30 #_ESC(B) VS BIRRD b JL>—)LFC | Lw ROS > )CRRIREFC(A) VS Lw ROS 2 )CRRIRFC(B) BHiROU—>
16:45 RER




nJOv ok

il

LacolL V& (&

TL>—)LFC

14 ESC(A)

14 ESC(B)

Ly ROSZRRIRFC(A) | Ly ROS ) (RIRIRFC(B)

BIRRTA b

BRI U—>

B

K

/R

Lacol V& (&

JL>—)LFC

A ESC(A)

14 ESC(B)

Ly ROS2)CRIRRFC(A)

Ly RIS )(RXIRFC(B)

BIRRDA

BiRIU—>

Fi

Lacol V& (&

TL>—)LFC

A_ESC(A)

A_ESC(B)

Ly RIS (RREFC(A)

Ly RIS (RREFC(B)

BIRDA

BiRIU—>

B

Kl

Lacol V& (&

JL>—)LFC

A_ESC(A)

4 ESC(B)

Ly RS2 )(RERFC(A)

Ly RIS ) (RXRFC(B)

BI#RDA

BiRIU—>

st

Lacol V& (&

TL>—)LFC

A ESC(A)

A_ESC(B)

L RIS (RREFC(A)

L RIS (RREFC(B)

BI#RDA

BiRoIU—>

5=

/R

K

/RmE

:tiv




